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1. were e v e AR Sfered : 1x8=8
Choose the correct answer of the following :

(a) 51O (A AR TR SRws [ty e
cefb =rm ffRe |
The foundation of British empire in
India was laid by the Battie of Plassey,

fought in

(i) Saev (i >eae
1758 e 1575,

(iii) Saeqa (iv) Sea4
1757 1577
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(2)

(b) TR ATHTS SEeE WA 23T wfew

(c)

24P[/492

Nature of Indian economy 01 the eve of
independence was

) S

underdeveloped

(i) Preedl
backward

(iii) €RT
stagnant

(iv) 87T FFCCEAS
All of the above

Bty WPFE TRRERTE R 48T ¥R T
I O SR ?
Which of the following was the main

reason for stagnation in the agricultural
sector during the British rule?

(i) 2[ETS TEIOl
Technological deceleration
(i) AP RAT T
Problems of irrigation facilities
(iii) SR Il I
Land settlement systems
i) PRI
Deindustrialization

( Continued )



(3)

d) f&ivz S TERE TR THS e Riv=acs
@CEl AeT TR & A ?
Which sector was expanded by the
Britishraj to improve the market size for
the goods of the British?
(i) T
Airways
(ii) (7R
Railways
(iii) R
Roadways
All of the above
(e) @Wmmawwﬁ? (TR
@ 5e (T ?
In which year does the first official
census in India take place during the
Britishraj?
J5rvo
1860
(ii) Svve
1885
(iii) Sv¥>
1881
(iv) S5¥>
1981
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(4)

TR P SRR wWew Wy @I afor=y
FffRe 2

Who calculated the national income of
India before Independence?

(i) R @S
/Surendranath Banerjee
(ii) SRIZIEA (e
Jawaharlal Nehru
(iii) =R SR
Mahatma Gandhi
(iv) wrrSRR Secarst
Dadabhai Naoroji
O (PR FRITON {4 SRON weiafie
2RPIReT Mgy w12 2

Which of the following was not the
feature of Indian demographic profile on
the eve of independence?

(i) o9 2| 79 Hifes

Death rate was low
(i) &3 =™ @R ik

Birth rate was high
(iii) 3 ST

Low life expectancy

(iv) 83 I9% 71 wRe

High infant mortality rate
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(5)

(h) PETEFCT TS TrEN W @G SHeN

SO (S Ty Rerfed 1B sRfe 2
De-industrialization had a major setback
to which of the following Indian
industries in particular?
() ¥
Coal
(ii) =B
Handicrafts
(iii) T2 = Sis
Iron and steel
(iv) T4 a7
Cotton textile

2. oW R @I SRR eme W Gre Rrar (aifedr
deo *RF foogs) : 4x4=16

Write short notes on any JSour of the following
(within 150 words each) :

(@)

(b)

JEICCT JAfST g7
Economic ideas of Ranade
TR 7 ~iffbe qfamre sffy

Changing occupational structure in the
pre-Independence era

(c) bR Pe Sfim Ty e
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Land tenure system in British rule
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(6)

(@) RN IR T
Problem of rural indebtedness
(e) STHATIH L)

Nature of industrialization

SRR HPFR TS SIST s M SE
Nfex srem @l | 11
Give an overview of economic structure and
policies of India during colonial rule.

w24qr / Or
o, . MR S qROPPR. TR T A
a@mcmm%mm:m@ww| 11

Explain the economic ideas of M. K. Gandhi
and examine their relevance in the present-
day context.

| gReR e e SRe e wraftafeTe
e R 12

Explain the demographic features of Indian
economy in the pre—lndependence era.

w31/ Or

Sofficafi A TS T saf R nfet? Bive
Wﬂmmﬁiﬁ@ﬂﬂmqw

sif e g 0 | 4+8=12
What was the agrarian structure during the
colonial rule? Explain the causes and
consequences of commercialization of Indian
agriculture during the British rule.
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5. TaRen =R Mweere omes St R
SRIT R = 490 11

Explain the state of industrial development
in mid-nineteenth century of India.
&[T/ Or
Bibe “rome SRer T3 SomeeE S
B CXEEOS] PRI I 47 | 11

Explain the causes of  industrial
backwardness of India’s major industries
under the British rule.

6. EERT PER S Rzt S wF SR
IS R e Ry s 9 | 11
Discuss the transportation development and
its impact on Indian economy during colonial

rule,

%<7/ Or
TRER WRNY soqe Biftey SRR SfaPreT
2SI R 97 | 11

Explain the impacts of imperial priorities of
British on Indian economy.

7. RO e CRTe R W Fw e IR
e amam wsar 11

Explain the nature and growth of public debt
in India during the pre-Independence era.
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2/ Or

oz e SBTe Ty o[ @R SRS FgmeE
w91, AT o wifRafeT Racy eets 41 | 11

Discuss about the form, extent and
consequence of economic drain from India
under the British rule.
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